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<E#E>

NHETKEEETEFINIRXRZN2)GEAKR28) No. 1
I o = - R v o E i
ERIEE (EEHY)
T A m?
(&
¥ BH0.08m3 m?® 410/408.81+0.00+0.00+0.00+0.00= 408.81
¥ BH0.13m3 m°> 570/572.95+0.00+0.00+0.00+0.00= 572.95
¥ BH0.28m3 m?® 310/308.40+0.00+0.00+0.00+0.00= 308.40
¥ BH0.45m3 m?>
EREH| (EF4L)
AAB m®
¥ BH0.08m3 m?® 6/5.80+0.00+0.00+0.00+0.00= 5.80
## BHO.13m3 m?®
¥ BH0.28m3 m® 20|21.76+0.00+0.00+0.00+0.00= 21.76
#4 BHO0.45m3 m?®
73]
m? 589|588.53+0.00+0.00+0.00+0.00= 588.53
ERER(HERL)
AAD m®
286.22+0.00+0.00+0.00+0.00+
¥ BH0.08m3 m® 290/0.00+0.00+0.00+0.00+0.00= 286.22
438.96+0.00+0.00+0.00+0.00+
¥ BH0.13m3 m?® 440/0.00+0.00+0.00+0.00+0.00= 438.96
261.13+0.00+0.00+0.00+0.00+
#H# BH0.28m3 m°> 260/0.00+0.00+0.00+0.00+0.00= 261.13
#4 BHO0.45m3 m?®
EREREBER(WRL)
AN m®
¥ BH0.08m3 m?® 70(68.59+0.00+0.00+0.00+0.00= 68.59
¥ BH0.13m3 m° 80|77.33+0.00+0.00+0.00+0.00= 77.33
B BH0.28m3 m?® 50|45.87+0.00+0.00+0.00+0.00= 4587
|5t m?® 190(68.59+77.33+45.87= 191.79
EREREBR(HARREL)
AAD m*
¥ BH0.08m3 m°
## BHO0.13m3 m°>
## BH0.28m3 m?®
=111 m®
Btung
AAB m*
¥ BH0.08m3 m°> 410(414.61+0.00+0.00+0.00+0.00= 414.61
¥ BH0.13m3 m?® 570]572.95+0.00+0.00+0.00+0.00= 572.95
¥ BH0.28m3 m?® 330(330.16+0.00+0.00+0.00+0.00= 330.16
=118 m? 1300(414.61+572.95+330.16= 1317.72
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NHETKEEETEFINIRXRZN2)GEAKR28) No. 2
I = # B B ¥ B |
HHRIME (EEHY)
T T AN m?
(HfTE)
## BH0.08m3 m?®
## BHO0.13m3 m°>
## BHO0.28m3 m?®
¥ BH0.45m3 m?>
EIRIEHI (EELL)
AAB m?>
#H BH0.08m3 m°> 20/21.010+0.000+0.000+0.000+0.000= 21.010
##M BHO0.13m3 m°> 40|43.567+0.000+0.000+0.000+0.000= 43,567
## BH0.28m3 m> 30/32.412+0.000+0.000+0.000+0.000= 32.412
#4 BHO0.45m3 m?®
KL
m? 96/95.82+0.00+0.00+0.00+0.00= 95.82
ERER(BLEL)
AAD m?
¥4 BH0.08m3 m>
#4 BHO.13m3 m?®
¥ BH0.28m3 m°>
#4 BHO0.45m3 m?®
ERER(HRT)
AN m°
#i BH0.08m3 m?> 10(11.391+0.000+0.000+0.000+0.000= 11.391
¥4 BHO0.13m3 m° 20/23.516+0.000+0.000+0.000+0.000= 23516
# BH0.28m3 m°> 20/18.347+0.000+0.000+0.000+0.000= 18.347
#H BH0.45m3 m?®
ERER (HAXB L)
AAD m?>
¥4 BH0.08m3 m° 6/5.553+0.000+0.000+0.000+0.000= 5.553
#H BHO0.13m3 m°> 10(12.798+0.000+0.000+0.000+0.000= 12.798
¥4 BH0.28m3 m°> 10 [10.078+0.000+0.000+0.000+0.000= 10.078
# BH0.45m3 m?3
Bias
AAB m?>
#H BH0.08m3 m°> 20/21.010+0.000+0.000+0.000+0.000= 21.010
##M BHO0.13m3 m°> 40|43.567+0.000+0.000+0.000+0.000= 43,567
#H BH0.28m3 m°> 30/32.412+0.000+0.000+0.000+0.000= 32.412
#4# BH0.45m3 m?
&t m°> 100(21.010+43.567+32.412+0.000+0.000= 96.989
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<E®>

NHTKEFEETEFIRIRXZNDDGEAKR2H) No. 3
T 2 1 = B I ¥} E i
T R I LRBER m 712|712.10+0.00+0.00+0.00+0.00= 712.10
(&)
BEgT-7 m 697/696.58+0.00+0.00+0.00+0.00= 696.58
PRP ¢ 150mm
BRER m 712(712.10+0.00+0.00+0.00+0.00= 712.10
IRERIER m 697/698.75+0.00+0.00+0.00-1.30= 697.45
TKEAZBEBI—H— & 4
JITRUK (HE)
PRP® 150mm 5° A_JF ol
PRP @ 150mm 10° RUK #H
PRP @ 150mm 22 1/2° RUK ol
SR E L=0.26m/{A
NIXEBEMTFE ¢ 150mm ol 5
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NHTKEFEETEFIRIRXZNDDGEAKR2H) No. 4
T ¥ 1 B B i1 ¥ E i
WM ET HR{FEVU @ 100mm T 43(43+0+0+0+0= 43
L, &R 54+0+0+0+0
A2EE ¢ 100mm, L=4.0m P N 60| +L,&B +6+0+0+0+0= 60
L, &R 0+0+0+0+0
A5 % ¢ 100mm, L0.8m . 3 31| +L,ZB +31+0+0+0+0= 31
60° XE ARUBA7
PRP ¢ 150mm X 100mm & 43(43+0+0+0+0= 43
30° HHE & 100mm & 43|ZEICEL 43
B447
75° BZEHE ¢ 100mm & 37|37+0+0+0+0= 37
1EKE+vvF @ 100mm & 43[Bft I+ EERTICRIL 43
BT EE R & A3[Ef I+ EERTICREIL 43
HETr—7 m 179]179.20+0.00+0.00+0.00+0.00= 179.20
T ES47
AS47° & 6/6+0+0+0+0= 6
B447° B 37/37+0+0+0+0= 37
C447° (AFLER)| &Fr
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NETKEEETEGFIIRZDND2)GEA28) No. 5
I = i B B 1 ¥} E i =
iRt
+ 8 I BHEIZE 20mLLF AH m
90.80+0.00+0.00+0.00+0.00+
HREIZE 2.0mLL T BH0.08m3 m 231/140.50+0.00+0.00+0.00+0.00+0.00= 231.30
PREIR 2.0mELF BH0.13m3 m
0.00+0.00+0.00+0.00+0.00+
YEEIZE 2.0mLL T BH0.28m3 m 2(0.00+0.00+0.00+0.00+0.00+2.00= 2.00
JREIZR 2.0mELF BH0.45m3 m
xRt
PREIZE 25mElF AD m
35.70+0.00+0.00+0.00+0.00+
JREIE 25mLL T BH0.08m3 m 36(0.00+0.00+0.00+0.00+0.00+0.00= 35.70
134.20+0.00+0.00+0.00+0.00+
PBHEIE 25mEL T BHO0.13m3 m 285|150.70+0.00+0.00+0.00+0.00+0.00= 284.90
0.00+0.00+0.00+0.00+0.00+
JREIE 25mLl T BHO0.28m3 m 65(65.00+0.00+0.00+0.00+0.00+0.00= 65.00
PEEIZE 25mELF BH0.45m3 m
iRt &
PREIE 3.0mLL T AD m
PBHEIE 3.0mEL T BHO0.08m3 m
JBEIZR 3.0mELF BHO0.13m3 m
60.50+0.00+0.00+0.00+0.00+
PEHEIE 3.0mEL T BHO0.28m3 m 61(0.00+0.00+0.00+0.00+0.00+0.00= 60.50
PEEIZE 3.0mELF BH0.45m3 m
xRt
JEHIZE 3.5mETF AD m
JREIZR 3.5mELF BHO0.08m3 m
PEEIZE 3.5mELF BHO0.13m3 m
JREIZE 3.5mELF BHO0.28m3 m
JBHIZR 3.8mLELF BH0.45m3 m
iRt E
PREIZE 3.8mLLT AD m
JEHIR 3.8mELF BH0.08m3 m
JREIZE 3.8mELF BHO0.13m3 m
#EHIZR 3.8mELF BH0.28m3 m
PEHEIZE 3.8mELF BH0.45m3 m
¥ B T 168 m 233|231.30+0.00+0.00+0.00+0.00+2.00= 233.30
28% m 446|446.10+0.00+0.00+0.00+0.00+0.00= 446.10
3E¥ m




SETHEBEHE ‘ <E#>
NHETKEEFEEIEZGFRINIXZMN2)GAKR2H) No. 1
T = A B B {51 % -]
104.78+0.00+0.00+0.00+0.00
VBT As t=15cm m 1080|+974.80+0.00+0.00+0.00+0.00= 1079.58
174.23+0.00+0.00+0.00+0.00
As 15cm<t=30cm m 620(+449.40+0.00+0.00+0.00+0.00= 623.63
Co t=15cm m
As t=10cm
SHERERT AN m?2
14.20+0.00+0.00+0.00+0.00
¥t BHO.13m3 +227.80+0.00+0.00+0.00+0.00
(BH0.08m3 %) +17.10+0.00+0.00+0.00+0.00
m? 430(171.10+0.00+0.00+0.00+0.00= 430.20
0.00+0.00+0.00+0.00+0.00
¥4 BHO0.28m3 m? 16/+16.10+0.00+0.00+0.00+0.00= 16.10
¥# BH0.45m3 m?
As 10cm<t=15cm
A m?
#4 BHO0.13m3
(BH0.08m3%)
m2
#H# BH0.28m3 m?
## BHO0.45m3 m?
As 15cm<t=35cm
A m?
0.00+0.00+0.00+0.00+0.00
#H# BHO0.13m3 +3.80+0.00+0.00+0.00+0.00+
(BH0.08m3%&) +19.80+0.00+0.00+0.00+0.00
m? 109(+85.20+0.00+0.00+0.00+0.00= 108.80
32.40+0.00+0.00+0.00+0.00
#H BH0.28m3 m? 164 |+131.80+0.00+0.00+0.00+0.00= 164.20
¥ BHO0.45m3 m?
Co t=35cm
A m?
¥4 BHO0.13m3
(BH0.08m3 %)
m2
#4 BH0.28m3 m?
#H BH0.45m3 m?




HEIHSRIHE <EE>
NETKEEFEESETSEFRIRZD2)GEA2R) No. 2
I = i B B {5 = ]
T B4 El - T A E
BEHOET AR m®
0.73+0.00+0.00+0.00+0.00
¥ BH0.08m3 m® 12(+11.30+0.00+0.00+0.00+0.00= 12.03
0.87+0.00+0.00+0.00+0.00
. BH0.13m3 m* 9]+8.50+0.00+0.00+0.00+0.00= 9.37
0.00+0.00+0.00+0.00+0.00
¥ BH0.28m3 m® 1[+0.80+0.00+0.00+0.00+0.00= 0.80
i BHO0.45m3 m®
TR R HI - T A E i
AR m®
0.00+0.00+0.00+0.00+0.00
i BH0.08m3 m® 1[+0.60+0.00+0.00+0.00+0.00= 0.60
3.16+0.00+0.00+0.00+0.00
¥ BH0.13m3 m® 17(+13.60+0.00+0.00+0.00+0.00= 16.76
5.19+0.00+0.00+0.00+0.00
B BH0.28m3 m® 26|+21.10+0.00+0.00+0.00+0.00= 26.29
¥4 BH0.45m3 m®
i (— %) 31.30+0.00+0.00+0.00+0.00
&% RET t=3cm m? 446|+415.00+0.00+0.00+0.00+0.00= 446.30
REHE 52.20+0.00+0.00+0.00+0.00
t=5cm m? 273|+220.80+0.00+0.00+0.00+0.00= 273.00
RESE
t=3cm m?
t=0cm m?
t=0cm m?
E(—%) 31.30+0.00+0.00+0.00+0.00
&% MBI t=22cm m? 446|+415.00+0.00+0.00+0.00+0.00= 446.30
BEEHE 52.20+0.00+0.00+0.00+0.00
t=21cm m? 273|+220.80+0.00+0.00+0.00+0.00= 273.00
REHE
t=10cm m?
t=0cm m?
t=0cm m?
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AHTRKEEETEFNIXZD2)(BK2H) No. 1
T & H =] H fu ¥ E H =
Ei#R (8)
RERHBE T W=15¢cm m
FikiR (B)
W=30cm m 4 4.30
FiE#R (B)
W=45cm m 5 4.50
EiR (37)
W=15cm m
IR (B)
W=45cm m
TFEXER (B)
W=15cmif & m
+FXER (B)
W=15cmii 5 m 11 11.40
XF (kFEHh-B)
W=15cmit & m 9 8.70
XF (30-%&)
W=15cmit & m
s (O)
W=15cmift & m
a5 (V)
W=15cmift & m
XF-iLE &t m 20
XF (COEH—T) ol
AT —Y 53l
BT E#ERA(RC-40) t=100 m?2
18N/mm2
A= I(EE) m3

R EEET m2
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NHTKEEETEFINIRZND2)GAK2H) EE No. 1
2 W 5] % Hi & E ] =
= - 2B [zB 6600, T-14 8 B &R AR
Z%, $600, T-25 8 B &R AR
BT [45 h = 20~45mm &
69 h = 46 ~69mm {&
BREYVY |5 ¢ 600 X 50 mm &
10 @ 600 x 100 mm {&
15 @ 600 x 150 mm {&
# B JOvs [30  ¢600x ¢ 900 x H300 &
45 ¢ 600X ¢ 900 % H450 B
60 ¢ 600 X ¢ 900 X H600 B
E & Jnvyy [30 $900 x H 300 &
60 $900 x H 600 {&
90 $900 x H 900 {&
120 $900 x H1200 &
150 $900 x H1500 53
B Jovs | 60 $ 900 x H 600 &
90 $900 x H 900 {&
120 $900 x H1200 E3
150 $900 x H1500 {&
180 $900 x H1800 {E




oy

SV E THRETR

1
NETKEEETEGFNIXRZFN2)GAK2H) BE

No. 2
£ 5 o) % Hil & E ] =
E R 7095 | ¢1100 x H 130 {& 12
Bl A | PRP¢350mmfd 07l
PRP ¢ 250mmH EAr
PRP ¢ 200mmJH B A
r—U 7Y 2m
PRP ¢ 150mmJH R 16| WIRIBAIFL 28R
VU ¢ 100mmF 5070
T —IL#tF | PRP ¢ 250mmfH EAr
PRP ¢ 200mmJH & AR
PRP ¢ 150mmFH AR 29
VU ¢ 100mmFf 07
E # I (1.4 \—t+BAER EAr 12
2: REEROH B R
3: AV IN—FDH BT
Wk=VTRY) [ IR ~30m B AR 12
#ft T
IWh—LMER 3.0~40m AR
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NHTKEEETEFINIRZND2)GAK2H) EE No. 1
2 W 5] % Hi & E ] =
= - 28 [zB ¢600. T-14 8 B &R AR
Z%, ¢$600, T-25 8 1] BR¥&RA AL 5%
BT [45 h = 20~45mm &
69 h = 46~69mm & 1
BREYVY |5 ¢ 600 X 50 mm &
10 @ 600 x 100 mm {&
15 @ 600 %150 mm {& 1
B AR 7y [12 $900x H120 {& 1
E & Jnvyy [30 $900 x H 300 &
60 $900 x H 600 {&
90 $900 X H 900 E] 1
120 $900 x H1200 &
150 $900 X H1500 53
B Jovs | 60 $900 x H 600 &
90 $900 x H 900 {&
120 $900 x H1200 E3
150 $900 x H1500 & 1
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No.

£ 5 o) % B & B
E R 7OvyY | ¢1060 x H 90 &
Bl A | PRP¢350mmfd 07l

PRP ¢ 250mmH EAr
PRP ¢ 200mmJH B AR
PRP ¢ 150mmfH Err
VU ¢ 100mmF 5070
T —IL#tF | PRP ¢ 250mmfH EAr
PRP ¢ 200mmJH B AR
PRP ¢ 150mmfi B
VU ¢ 100mmFf 07
E # I [1:A 1 —r+BaEMH 207l
2: REEROH R
3: AV IN—FDH &
Wik-7'M) | VLR ~30m & AR
#ft T
IWih—WiE 30~ 40m AR
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No.

3]

%

B4

-

el

T-14

—

0+1=1

T-25

o<

20~45mm

—

0+1=1

45~69mm

REYT

100 mm

—

0+1=1

150 mm

B OB B @ @

#MEIOYVY

H-190

B

—

0+1=1

EEIJOvY

H-200

H-300

H-400

H-500

H-600

H-700

H-800

H-900

H-1000

—

0+1=1

TR

H-400

FrH & 150mm

H-600

i £ 150mm

H-400

i £&£200mm

H-600

i H £&£200mm

B OE O [ B B B B [ [ [ [ |




AWH-pEP BRIV B T EET R

AR TRKEEETEGFRIRZN2)GEK2H) BE
& W 3] % B | & 8 1
E g 70v4 | H-100 & 110+1=1
Hl F. | PRP¢200mmFd 3
PRP ¢ 150mm A 307 110+1=1
VU ¢ 100mmfg B P
vUR—IL#EF | PRP ¢ 200mmf B P
PRP ¢ 150mm 313l 110+1=1
VU ¢ 100mmH B P
= 37l 110+1=1
wik-nInyy RNV -fEE-EE & P 3l0+3=3
T
B EE 307 110+1=1
EhR 13 110+1=1
ERRA RC-40 t=10cm m?2 0.3/0.0 +0.3=0.3




g 1-1 BEEEZE

BRLIT #H=EMES
AEFKERETEFRIRZOA@ER2B)<EHE> — Wil FLFEHASRIFH

X IR shae EEERI | & BRER it
- ALES o .| o | 2P [EEE] B R EEEE | one| @ BRER n 5 W =
= oL oL - = e T | 18 (%) (%) B miE = ! " 18 T8 +8 & XIERLMAFKET
= AR Ha= " 1 Hy= Vi=WskHgk | V,=WskH % % Hy=Hs~ Vs=Vi - DHE
L H, H, (H1+:|2)/2 t H34—t1 w 1 i 4 2 y 4 W, A=W, %L t, t, et :2‘t§ W,=W VA V=Vl (gy:i()j: =] VX [&V,~V,+0.9
2
T8 LAl m m m m m m m m® m® m m? m m m m m>/m m° m°
E92-M3 B92-M3+25.10
90 15 Al = 25100 | 2.060| 1915 1.988] 1 %% 0.08 0.05| 1.938 0.85 41.35 0.78 19.58 0.25| 0.356 HEL 1.382 085| 1.175 29.49 41.35 | IBEEE?2
H92-M3+25.10 |E90-MT1
" i 15 4500 | 1.915| 2.031 1973 123 0.08 0.16 | 1.813 0.85 6.93 0.78 3.51 0.26 | 0.356 wBEL 1.357 0.85| 1.153 5.19 6.93 | XBFEES
BE90-M1 B 89-M1
89 15 15Uy VA 65.000 | 2.011| 2.766 2.389| +88 0.28 0.16 | 2.229 1.05 152.13 0.98 63.70 0.26 | 0.356 wRT 1.773 1.05| 1.862 121.03 15213 | 3@EHES
#89-M1 #98-1-M1
B98-1 [#HL15(LY VA 15 60.500 | 2.651 | 2.589 2620 122 0.28 0.16 | 2.460 1.05 156.27 0.98 59.29 0.26 | 0.356 wEL 2.004 1.05| 2.104 127.29 156.27 | 3@FEES
#98-1-M1 B 129-M1
129 15 15 64.000 | 2569 | 2.407 2.488 B 0.13 0.16 | 2.328 0.90 134.09 0.83 53.12 0.26 | 0.356 wRT 1.872 0.90 | 1.685 107.84 134.09 | I@EHES
#129-M1 #129-M1+30.70
150 15 Al = 30.700 | 2.387 | 2275 2331 88 0.13 016 | 2.171 0.90 59.98 0.83 25.48 0.26 | 0.356 HRET 1.715 0.90 | 1544 47.40 59.98 | FBEFEE3
BEEZET109-M1 |EE102-MT1
102 15 =2 7200 | 2118 | 2076 2.097 = 0.08 0.05| 2.047 0.85 12.53 0.78 5.62 0.25 | 0.356 HET 1.491 0.85| 1.267 9.12 1253 | 3@EHE?2
#102-M1 #102-M2
" IZNBIL Y 15 5000 | 1.604| 1.629 1617 %28 0.08 0.05| 1567 0.85 6.66 0.78 3.90 0.25| 0.356 HEL 1.011 0.85| 0.859 4.30 6.66 | 3EFEE2
B 102-M2 E102-M3
" 15 15 49400 | 1.609 | 1.791 1.700 T &3 0.08 0.05| 1.650 0.85 69.28 0.78 38.53 0.25| 0.356 BBt 1.094 0.85| 0.930 45.94 69.28 | FEEE?2
#102-M3 #102-M4
" 15 15 46.800 | 1.736 | 2.076 1.906| T 2% 0.08 0.05| 1.856 0.85 73.83 0.78 36.50 0.25| 0.356 HEL 1.300 0.85| 1.105 51.71 7383 | XEFEE?2
E102-M4 E100-M1
100 15 15 61.300 | 2.056 | 1.772 1.914| T8 0.08 0.05| 1.864 0.85 97.12 0.78 47.81 0.25| 0.356 BBt 1.308 085 | 1.112 68.17 9712 | I@BEEE2
E100-M1 #100-M1+36.40
" 115 Al = 36.400 | 1.752 | 1.500 1.626| %23 0.08 0.05| 1576 0.85 48.76 0.78 28.39 0.25| 0.356 = tan 1.020 0.85| 0.867 31.56 48.76 | IBEFHE?2
B100-M1+36.40 |52 100-M2
" p: 15 26.800 | 1.500 | 1.306 1.403| HiE 0.28 0.05| 1.353 0.60 21.76 0.60 16.08 0.25| 0.356 HET 0.797 060 | 0478 12.81 21.76 | I@BEEE2
E100-M2 B 100-M2+7.90
99 11 B B A 7900 | 1256 | 1.292 1.274| ZFEiE 0.08 005| 1.224 0.60 5.80 0.60 4.74 0.25 | 0.356 wET 0.668 0.60 | 0.401 3.17 580 | I @EEE2
BEERE134-M1  |B132-MT1
132 S5 15 69.600 | 2.126 | 2.347 2237 128 0.13 005 | 2.187 0.90 136.99 0.83 57.77 0.25| 0.356 wEL 1.631 0.90 | 1.468 102.17 136.99 | Z@EEE?2
B 132-M1 B 132-M2
" 15 15 56.000 | 2.327 | 2.349 2.338] 123 0.13 0.05| 2.288 0.90 115.32 0.83 46.48 0.25| 0.356 HEL 1.732 0.90 | 1.559 87.30 11532 | X @EE2
B 132-M2 #130-M1
130 15 15 64.600 | 2.329| 2.125 2227 128 0.13 005| 2177 0.90 126.57 0.83 53.62 0.25| 0.356 wBEL 1.621 0.90 | 1.459 94.25 12657 | 3@FEE?2
H130-M1 B 130-M2
" 15 15 28500 | 2.105| 1.949 2027 T8 0.08 005| 1.977 0.85 47.89 0.78 22.23 0.25| 0.356 RwRT 1.421 0.85 | 1.208 34.43 4789 | IBEEE?2
#130-M2 B#130-M2+2.80
" 15 Al | 2800 | 1.929| 1.921 1.925| 123 0.08 005| 1.875 0.85 4.46 0.78 2.18 0.25| 0.356 wBEL 1.319 0.85| 1.121 3.14 446 | RBFEE2
AN AR
BH = BH
0.08 5.80 408.81 HIERIME 0.08 286.22 414.61
BH BH
= 0.13 572.95 BRTE 0.13 438.96 572.95
HEFERI M E BH RSt BH
0.28 21.76 308.40 T - ®BEL 0.28 261.13 330.16
BH BH
0.45 0.45
i 712.100 z 27.56 1290.16 588.53 i 986.31 1317.72
AR AA
BH = BH
0.08 5.80 408.81 RIEAINE 0.08 286.22 414.61
BH BH
= 0.13 572.95 BRtTE 0.13 438.96 572.95
HIERIME BH LER HAET BH
0.28 21.76 308.40 T -HBEL 0.28 261.13 330.16
BH BH
0.45 0.45
&t 712.100 B 27.56 1290.16 588.53 K 986.31 1317.72
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(AARES) ” wE | 2R L |@E150)|  (RR) £ & | g | s E | = B SE + &
§ : E | ¥ | gre L=4.00m 7 Rt *é i & £ g 3 f#
=1 AFAER L B8 =313 5  LB=1.045| | =(| -, H g %
LB ERER L, 0" LB=2.095 /4.0 Ls=L-L, L, Ls=L-L4 3 W, Vg Le=Ls V;=Vg*Lg =}
T HBREE 221/2° LB=2.160 LB/ &.
Tl LA m mm m 1& m PN m m m m? m m m’/m m m®
B92-M3 #92-M3+25.10
90 HaI15 Al = 25.100 |PRP ¢ 150mm{  0.450 6.2 2465 | 0.525 2458 MRt 0.08 0.356 0.78 0.259 24.58 6.37 | XEBEFE2
B92-M3+25.10 [EE90-M1
" p: I 115 4.500 [PRP ¢ 150mm{ 0.450 1.0 405| 0525 3.98 HwET 0.08 0.356 0.78 0.259 3.98 1.03 | RBEEES
B 90-M1 H89-M1
89 15 FHIT 1S (LY VED 65.000 |PRP ¢ 150mm{  0.900 16.0 64.10 | 1.015 63.99 wBE T 0.28 0.356 0.98 0.330 63.99 2112 | EFEES
H89-M1 H98-1-MT
98-1 [#1181LYVED 15 60.500 |PRP ¢ 150mm{ 0.900 14.9 5960 | 1.015 59.49 mBEt 0.28 0.356 0.98 0.330 59.49 19.63 | 3FEFES
#98-1-M1 B 129-M1
129 15 15 64.000 [PRP ¢ 150mm{  0.900 15.8 63.10 | 1.050 62.95 wET 0.13 0.356 0.83 0.276 62.95 17.37 | IR@EEES
B 129-M1 #129-M1+30.70
150 15 Al = 30.700 |PRP ¢ 150mm{ 0.450 7.6 30.25 | 0.525 30.18 wBE T 0.13 0.356 0.83 0.276 30.18 833 | IHEFEE3
BEEREE109-M1 [EE102-MT1
102 15 INREDY Y 7.200 [PRP ¢ 150mm{ 0.600 1.7 6.60 | 0.735 6.47 HE T 0.08 0.356 0.78 0.259 6.47 168 | ZBEFE?2
#102-M1 E102-M2
" INIOY $H3r15 5.000 [PRP ¢ 150mm{ 0.600 1.1 440 0.735 427 WET 0.08 0.356 0.78 0.259 4.27 1.11 RIBEEE?2
#102-M2 #102-M3
" 15 15 49.400 [PRP ¢ 150mm{ 0.900 12.1 4850 | 1.050 48.35 mBET 0.08 0.356 0.78 0.259 48.35 1252 | I@EHE?2
H102-M3 B 102-M4
" HaI15 15 46.800 |PRP ¢ 150mm  0.900 115 4590 | 1.050 4575 Fg=tan 0.08 0.356 0.78 0.259 45.75 11.85 | 3 @EFE?2
#102-M4 #100-M1
100 15 15 61.300 |PRP ¢ 150mm{ 0.900 15.1 60.40 | 1.050 60.25 wBET 0.08 0.356 0.78 0.259 60.25 1560 | 3@EFE?2
E100-M1 B100-M1+36.40
" 15 B = 36.400 |PRP ¢ 150mm{ 0.450 9.0 35.95| 0.525 35.88 wET 0.08 0.356 0.78 0.259 35.88 9.29 | 3EFEE2
B100-M1+36.40( 5 100-M2
" Al = 15 26.800 [PRP ¢ 150mm{ 0.450 6.6 26.35| 0.525 26.28 HwET 0.28 0.356 0.60 0.195 26.28 512 | ZEEEE2
#100-M2 H100-M2+7.90
H99 3115 Al = 7.900 [PRP ¢ 150mm{  0.450 1.9 745 | 0.525 7.38 HwET 0.08 0.356 0.60 0.195 7.38 144 | ZBEEFE2
BEERER134-M1 [E132-MT1
132 15 15 69.600 |PRP ¢ 150mm{  0.900 17.2 68.70 | 1.050 68.55 wBE T 0.13 0.356 0.83 0.276 68.55 18.92 | 3 @EFE?2
B 132-M1 B 132-M2
" $315 $iI15 56.000 |PRP ¢ 150mn{ 0.900 13.8 5510 | 1.050 54.95 HWET 0.13 0.356 0.83 0.276 54.95 15.17 | 3 @EEE?2
B 132-M2 B 130-M1
130 HaI15 15 64.600 |PRP ¢ 150mm{  0.900 15.9 63.70 | 1.050 63.55 MRt 0.13 0.356 0.83 0.276 63.55 1754 | 3 @EFE?2
H130-M1 B 130-M2
" FI 15 $iI15 28.500 |PRP ¢ 150mn{ 0.900 6.9 27.60 | 1.050 27.45 HWET 0.08 0.356 0.78 0.259 27.45 7.11 AEFEE?2
H130-M2 B130-M2+2.80
" $H3L 15 Al = 2.800 |PRP ¢ 150mm{ 0.450 0.6 235| 0525 2.28 MEL 0.08 0.356 0.78 0.259 2.28 059 | RBFEE?2
PRP ¢ 150mm 712.100 174.9 698.750 AR
s BH 68.59
BRI & 0.08 266.64
BH 77.33
Higt= 0.13 280.18
LB HMEL BH 45.87
TE - #fXEL| 0.28 149.76
BH
0.45
191.79
£ 5 712.100 174.9 698.750 696.58 H 696.58
PRP ¢ 150mm 712.100 174.9 698.750 AR
= BH 68.59
AR M E 0.08 266.64
BH 77.33
Hitt= 0.13 280.18
LB HEL BH 4587
TE - #MfEL| 028 149.76
BH
0.45
191.79
&5t 5 712.100 174.9 698.750 696.58 =t 696.58
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ERIEOIT #

KRB - CGAHBEZ LB
X EHIE = KREA 53R T BELEXRART BiA-5l3RT
55 ALBES il = 2 iJﬁ‘; (LB R E P X REH T IEE1R) H’EEHE&E%%& (INRIVE A ABTE) %
ﬁ GRIAEE) i X oy L=2.0m L=2.5m L=3.0m L=3.5m L=4.0m Zx=120cm”* L=4.0m | L=45m | L=5.0m &
: ] = 1E% 1E% 2E% 2F% 2E% 2F% 2E% 2E% 3% 15 2F% 2E% 3% BHO0.45 B3 i
& AFLEER T | rm | Y B OB i
= P i H i& 1.50 1.80 2.00 2.30 2.50 2.80 3.00 3.30 3.50 1.50 2.00 2.50 3.50 3.80 4.00 450 =
L H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= <H= B
1.50 1.80 2.00 2.30 2.50 2.80 3.00 3.30 3.50 3.80 2.00 2.50 3.50 3.80 4.00 450 5.00
TR LA m m m m m m m m m m m m m m m m m m m m m m
E92-M3 B92-M3+25.10
90 115 Bl A 25100 | 2060 | 1.915 1988 085| 0.08 25.10 25.10 REEEE?
H92-M3+25.10 |E90-MT1
" B = 185 4500 | 1.915| 2.031 1973 085| 0.08 450 450 REEES
B90-M1 B 89-M1
89 {15 15y vEl) 65.000 | 2.011| 2.766 2.389 1.05| 0.28 65.00 65.00 XBEEES
B 89-M1 H98-1-M1
}98-1 #1585y VED 15 60.500 | 2.651 | 2.589 2620 1.05| 0.28 60.50 60.50 RKEFEES
#98-1-M1 B 129-M1
B129 15 15 64.000 | 2.569 | 2.407 2488 090| 0.13 64.00 64.00 XBEEES
B 129-M1 H129-M1+30.70
150 15 Bl & 30.700 | 2.387 | 2.275 2.331 090 | 0.13 30.70 30.70 REEES
BEEZET109-M1 |EE102-MT
B102 HI1 5 INBO Y 7200 | 2118 | 2076 2.097| 0.85| 0.08 7.20 7.20 XBEE2
E102-M1 H102-M2
" IZNRIOLH #3115 5000 | 1.604| 1.629 1617 0.85| 0.08 5.00 5.00 RRIEE?
B102-M2 #102-M3
" 15 3115 49400 [ 1.609 | 1.791 1.700 0.85| 0.08 49.40 4940 REFEE2
B 102-M3 H102-M4
" 15 15 46.800 | 1.736 | 2.076 1.906| 0.85| 0.08 46.80 46.80 RBEEE2
B102-M4 E100-M1
100 15 3115 61.300 | 2.056 | 1.772 1914 0.85| 0.08 61.30 61.30 RKiEFFEE2
E100-M1 B 100-M1+36.40
" 15 Al & 36.400 | 1.752 | 1.500 1.626] 0.85| 0.08 36.40 36.40 XBEEE2
B100-M1+36.40 |52 100-M2
" B = 118 26.800 | 1.500 | 1.306 1.403] 060| 0.28 26.80 REFED
E100-M2 H100-M2+7.90
#99 HII1 5 Al A 7900 | 1256 | 1.292 1.274] 060 | 0.08 7.90 REEEE?
BEERE134-M1  |E132-MT1
132 S5 115 69.600 | 2.126 | 2.347 2237| 090| 0.13 69.60 69.60 XEFFEE2
H132-M1 B 132-M2
" 115 #3115 56.000 | 2.327 | 2.349 2.338| 0.90]| 0.13 56.00 56.00 XBEEE2
B 132-M2 #130-M1
130 15 #3115 64.600 | 2.329| 2125 2227 090| 0.13 64.60 64.60 XEFEE2
H130-M1 B 130-M2
" 15 115 28500 | 2.105| 1.949 2027| 0.85| 0.08 28.50 28.50 XBEEE2
B 130-M2 #130-M2+2.80
1" 15 B = 2800 | 1.929| 1.921 1925 085| 0.08 2.80 2.80 REEE?
AA
BH
0.08 7.90 90.80 140.50 35.70 231.30 35.70
BH
R A oE.:H 3 134.20 150.70 284.90
0.28 26.80 65.00 60.50 65.00 60.50
BH
0.45
H 712.100 = 34.70 231.30 385.60 60.50 231.30 446.10
AA
BH
0.08 7.90 90.80 140.50 35.70 231.30 35.70
BH
R R A OéL 3 134.20 150.70 284.90
0.28 26.80 65.00 60.50 65.00 60.50
BH
0.45
&5t 712.100 H 34.70 231.30 385.60 60.50 231.30 446.10
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= i s | % | om 8 B 2|z 2| 2 . 3 i
= AFLFES g8 = As As Co As As As Co & B B fi& B B " " EC
=5 L 2 Al % REE | BREE A A =
- 15cm<t 10cm<t| 15cm<t ~ ~ B 5 |
t=<15cm| =30cm |t=15cm|t=10cm| =15cm | =35cm | t=35cm 0.03 0.05 0.03 0.22 0.21 0.10 i i
T4 LAl m m m m m m m m? m> m> m? m m m> m> m> m> m? m> m° m°
#92-M3 B92-M3+25.10
90 115 A = 25.100 0.85 | 4740 | 0.08 HE(—A%) 0.05 50.20 21.3 0.03 0.22 21.3 21.3 1.1 XBEEE2
#92-M3+25.10 |[E90-M1
" p: I 15 4500 0.85 | 4740 | 0.08 EEEE 0.16 9.00 3.8 0.05 0.21 3.8 3.8 0.6 | ZBEFE3
H90-M1 H89-M1
89 15 15y vE) 65.000 1.05 | 4650 | 0.28 BEEHE 0.16 130.00 68.3 0.05 0.21 68.3 68.3 109 | IEEFES
H89-M1 E98-1-M1
}R98-1 |#AT 151y VA 315 60.500 1.05 | 4600 | 0.28 BEHEE 0.16 121.00 63.5 0.05 0.21 63.5 63.5 102 | IEEEES
#98-1-M1 B 129-M1
129 115 15 64.000 0.90 | 4600 | 0.13 BEEE 0.16 128.00 57.6 0.05 0.21 57.6 57.6 92| FEFHE]
B 129-M1 #129-M1+30.70
150 15 Al = 30.700 0.90 | 4770 | 0.13 BEEE 0.16 61.40 27.6 0.05 0.21 27.6 27.6 44| IEFHEES
BEERE109-M1 |[EE102-M1
102 15 INRIOL Y 7.200 0.85 | 4.280 | 0.08 hE(—fg) 0.05 14.40 6.1 0.03 0.22 6.1 6.1 0.3 RBFEE?2
H102-M1 H102-M2
" INEI 4 HaI15 5.000 0.85 | 4280 | 0.08 HE(—A%) 0.05 10.00 43 0.03 0.22 43 43 0.2 REiFE?2
H102-M2 #102-M3
" 115 3115 49.400 0.85| 4.280 | 0.08 HiE(—A%) 0.05 98.80 42.0 0.03 0.22 42.0 42.0 2.1 RIBEEE?2
B 102-M3 #102-M4
" 15 HiI15 46.800 0.85 | 4220 | 0.08 mE(—A%) 0.05 93.60 39.8 0.03 0.22 39.8 39.8 2.0 REiFE?2
H102-M4 E100-M1
100 $A3115 15 61.300 0.85 | 4.930 | 0.08 hE(—fg) 0.05| 12260 52.1 0.03 0.22 52.1 52.1 2.6 RBFEE?2
E100-M1 H100-M1+36.40
" 15 Al 36.400 0.85 | 4.930 | 0.08 HE(—A%) 0.05 72.80 30.9 0.03 0.22 30.9 30.9 15 XBEEE2
B1100-M1+36.40| 32 100-M2
" p: I 15 26.800 0.60 | 4930 | 0.28 TE(—#%) 0.05 53.60 16.1 0.03 0.22 16.1 16.1 0.8 REiFE?2
E100-M2 B100-M2+7.90
99 15 Al = 7.900 0.60 | 1.920 | 0.08 mHE(—A%) 0.05 15.80 47 0.03 0.22 47 47 0.2 REEFE?2
BEEZER134-M1 |EE132-M1
132 115 15 69.600 0.90 | 4520 | 0.13 HE(—A%) 0.05 | 139.20 62.6 0.03 0.22 62.6 62.6 3.1 XBEEE2
H132-M1 H132-M2
" 15 15 56.000 0.90 | 4610 | 0.13 mE(—A%) 0.05| 112.00 50.4 0.03 0.22 50.4 50.4 25 KEiFE2
B 132-M2 B 130-M1
130 15 15 64.600 0.90 | 5030 | 0.13 HE(—A%) 0.05]| 129.20 58.1 0.03 0.22 58.1 58.1 2.9 REiEFE?2
H130-M1 B 130-M2
" 3115 15 28.500 0.85 | 5.030 | 0.08 B (—A%) 0.05 57.00 24.2 0.03 0.22 24.2 24.2 1.2 RBFEE?2
H130-M2 H130-M2+2.80
" 15 A = 2.800 0.85 | 5.030 | 0.08 HhE(—A%) 0.05 5.60 2.4 0.03 0.22 2.4 2.4 0.1 XBEEE2
AR
BH
0.08 227.8 3.8 227.8 3.8 227.8 3.8 11.3 0.6
BH
TR R OB1H3 171.1 85.2 171.1 85.2 1711 85.2 8.5 13.6
0.28 16.1 131.8 16.1 | 131.8 16.1 | 131.8 0.8 21.1
BH
0.45
E 712.100 B 974.80 | 449.40 415.0 220.8 4150 | 220.8 4150 | 220.8 20.6 35.3
AN
BH
0.08 227.8 3.8 227.8 3.8 227.8 3.8 11.3 0.6
BH
MR 2 OB1H3 171.1 85.2 171.1 85.2 171.1 85.2 8.5 13.6
0.28 16.1 131.8 16.1 | 131.8 16.1 | 131.8 0.8 21.1
BH
0.45
&t 712.100 B 974.80 | 449.40 415.0 220.8 4150 | 220.8 4150 | 220.8 20.6 35.3
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el | £ s |~| & | A7 | BMT | e | B fal fl | mEg | B | <12 ER | AR (& = T B [ 18 | XERLHMARELO
z 1% {4 " |k &t g5 | =R - = = -
= : i i i : = H= | V7 L He=He | V8 Vy=V v
i H W i L KELH|AELH| AFLESR '%_IJ' %]I_IJ' H W W,= L= L= t H6—t W, X Hg | Wy XL, t, ts o :_ts Hy X Ly 9= V7 Vy=V;-Vg=+0.9
‘ B 5 |smski| 15melE " R ? 5 U lwxi/2 | LW, | Lxn R T 2| xw,
T4 LAl BH m ~ m vasil vasil Vil il m m m m m_|[m/#Fi| m m m m® m? m m m m° m’
0.08 ] 192 1 1 1.014 1.214 1114] 0600 0425 1.495] 1.495 005 1.064 0.95 0.90 0.25 0314 HBEX 0550 [ 0493 0950
90 |E92-M3 B 92-M3+25.10 1.732| 0.85
7 E92-M3+25.10 |EL90-MT1 1.717| 0.85
0.28 £ 952 3 3 1.014 1.214 1114 0600 | 0525 8995 | 26.985 0.16 | 0954 | 15446 | 16.19 0.26 0314 | HBEZL 0.540 | 8.743 | 15.446
B89 |EH90-M1 B 89-M1 2.133| 1.05
0.28 £ | 956 2 2 1.014 1.214 1.114| 0600 0525| 9.035| 18.070 0.16 | 0.954 | 10.343 | 10.84 0.26 0314 | HEZL 0.540 | 5.855 | 10.343
EH98-1 |E89-MT E98-1-M1 0.28 2.364| 105 |4A&| 6.31 2 2 1.014 1.214 1.114| 0600| 0525| 5.785| 11.570 0.16 | 0.954| 6.623 6.94 0.26 0314 | HBEL 0540 | 3.749 | 6.623
0.13 £ | 959 1 1 1.014 1.214 1114 0600 | 0450 | 9.140 | 9.140 0.16 | 0954 | 5.232 5.48 0.26 0314 | HBEZL 0540 | 2961 | 5232
B129 |H98-1-M1 B 129-M1 0.13 2232| 090 |AH| 645 1 1 1.014 1214 1114/ 0600 | 0450 | 6.000| 6.000 0.16 | 0.954 | 3.434 3.60 0.26 0314 | HRL 0540 | 1.944 | 3.434
0.13 | 1055 2 2 1.014 1.214 1.114| 0600 | 0.450 | 10.100 | 20.200 016 | 0954 | 11562 | 12.12 0.26 0314 | HBEL 0.540 | 6.545 | 11.562
150 [E129-M1 E129-M1+30.70 2.075| 0.90
3102 |BEEREE109-M1  [E102-M1 1.841| 0.85
7 E102-M1 E102-M2 1.361| 0.85
0.08 £ 212 2 2 1.014 1.547 1281 0600 | 0425 1695 3.390 005| 1.231| 2504 2.03 0.25 0314 | SRt 0.717 | 1.458| 2504
7 E102-M2 H102-M3 0.08 1444 085 |A| 261 2 2 1.014 1.547 1.281| 0600 | 0425| 2.185| 4.370 005| 1.231| 3.228 2.62 0.25 0314 | HEX 0.717 | 1.880| 3.228
0.08 | 222 2 2 1.014 1.214 1.114| 0600 0425| 1.795[ 3.590 005| 1.064]| 2292 2.15 0.25 0314 | HBEL 0550 | 1.185| 2.292
7 E102-M3 E102-M4 0.08 1.650| 085 |4A& | 243 3 3 1.014 1.214 1.114| 0600 | 0425| 2.005| 6.015 005 | 1.064| 3.840 3.61 0.25 0314 | HBEZL 0550 | 1.985| 3.840
0.08 £ 169 1 1 1.014 1214 1114 0600 | 0425 1265 1.265 005| 1.064| 0.808 0.76 0.25 0314 | HRL 0.550 | 0.417 | 0.808
100 |E102-M4 B 100-M1 0.08 1658 085 |A| 3.24 1 1 1.014 1.214 1.114| 0600| 0425| 2815| 2815 005| 1.064| 1.797 1.69 0.25 0314 | HBEX 0550 | 0.929 | 1.797
0.08 £ 169 1 1 1.014 1473 1244 0600 0425| 1.265| 1.265 005| 1.194| 0.906 0.76 0.25 0314 | HBEL 0.680 | 0516 | 0.906
" B 100-M1 E100-M1+36.40| 0.08 1.370| 085 |#A| 3.24 1 1 1.014 1473 1.244| 0600| 0425| 2815| 2815 005| 1.194| 2017 1.69 0.25 0314 | HBEL 0680 | 1.149| 2017
7 E1100-M1+36.40 |EL100-M2 1.147| 0.60
$H99 |E100-M2 B1100-M2+7.90 1.018| 0.60
0.13 £ 147 2 2 1.014 1.214 1.114| 0600 | 0450 | 1.020| 2.040 005| 1.064| 1.302 1.22 0.25 0314 | HRL 0.550 | 0.673 | 1.302
132 |BEERE134-M1  [E132-M1 0.13 1.981| 090 |#A| 354 5 5 1.014 1.214 1.114| 0600 | 0.450| 3.090 | 15.450 005| 1.064| 9.863 9.27 0.25 0314 | HEL 0.550 | 5.099 | 9.863
0.13 £| 157 3 3 1.014 1.214 1.114| 0600 0450 1.120| 3.360 005| 1.064| 2145 2.02 0.25 0314 | HBEL 0550 | 1.109 | 2.145
7 B 132-M1 H132-M2 0.13 2082 090 |A&| 350 2 2 1.014 1.214 1114/ 0600 | 0450 | 3.050 | 6.100 005 | 1.064| 3.894 3.66 0.25 0314 | HBEZL 0550 | 2.013| 3.894
0.13 £ 184 1 1 1.014 1.214 1.114| 0600 0450 | 1.390| 1.390 005| 1.064| 0.887 0.83 0.25 0314 | HEX 0.550 | 0.459 | 0.887
E130 |E132-M2 E130-M1 0.13 1.971| 090 |&| 3.19 3 3 1.014 1.214 1.114| 0600 | 0450| 2.740| 8.220 005| 1.064| 5.248 493 0.25 0314 | B 0.550 | 2.713| 5.248
0.08 | 184 1 1 1.014 1.214 1114 0600 0425| 1.415| 1.415 005 | 1.064| 0.903 0.85 0.25 0314 | HBEZL 0550 | 0467 | 0903
" E130-M1 B 130-M2 0.08 1.771| 085 |#A | 3.19 1 1 1.014 1214 1114 0600 | 0425| 2.765| 2.765 005| 1.064| 1.765 1.66 0.25 0314 | HRL 0.550 | 0.912| 1.765
7 E130-M2 E130-M2+2.80 1.669| 0.85
AN A7
BH - BH
I —_—
0.08 21.010 BRI 0.08 | 11.391 | 21.010
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